Lesson 4 A Dog in a Barbershop (pp. 16-17)
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(a) usedto LHTIE~1=271=] : BEDIKEE - RAMITAZEFERMICRT.
LIRTd>Z ZOBICHEER S A D -T2,

— There a barbershop at that corner.

@ used to (FIRFEEDXLLEZETRL, TLEIEZE S Zo1=h%, IWEIXZE S TIEAELY &0
SEHERLET.

(b) would ~L71-£ D] : BEDEBEZTEHMIZKRT.

FITHNE LS EZ T2 B DT,
-1 there with my brother.

¢ would [FBEDZEZFZBIMEZLT I~LI=HDE] EMMRBZRIET, often
sometimes & ELICHAWAHELLCREoNET.
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(@) <must have+BERE> : [~FZofz[LI]IZHAUVELN
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— The dog very shy.

(b) <may have+@ERE> : [~f=ofz[Lfz]1HhE LAdily
FEDA XTI BIZEZTON LT T s LIvZeu.
— The dog happy to see us.

(¢) <can’t have+BERF> : [~ of=[L1=]IETH LN
Sue can’t have attended the party. She has been sick since Friday.
(RA=DFD/3—=T 4 —IZBMMLTITT T2, BREA NS T - EIRRRDTENG.)
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— The exam was difficult. 1 harder.
<should not[shouldn’t] have+BEREE> : [~FRXRETHEMNHzDIZ]

You shouldn’t have eaten too much. (B~EE A& TlEAR0->7=0I1C.)



